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10.0 A
5.0 o
7.5 4 o 254 rd
E
5.0 £ 004 10°
5
—-2.5
2.5 -
—5.0
0.0 T T T T T T T T T T T
000 0.000 0.000 1.00.000 0 50 100 150 200 250 300 350
053:00:00.005. 000 T05:00"
7_023_07.7- 023 B 2‘“13 07.—2AT 022 Longitude
Time (utc)
60-s bins --saacalc=1 -saamode=0PTIMIZED --tentacle=no  6.40-ks, 100%
10.0 A
5.0 o
7.5 4 v 254 rd
E
5.0 £ 004 10°
5
—-2.5
2.5 e
—5.0
0.0 T T T T T T T T T T T
000 0.000 _1.90.000 1.00.000 0 50 100 150 200 250 300 350
083:00:0 04000 T05:00"
202302 7-7_023 Y 2%13 07.—2AT 02-2 Longitude
Time (utc)
60-s bins --saacalc=1 -saamode=0PTIMIZED --tentacle=yes  6.40-ks, 100%
10.0 A
5.0 o
7.5 4 v 254 rd
E
5.0 £ 0.0+ 10°
5
—-2.5
2.5 e
—5.0
0.0 T T T T T T T T T T T
000 0.000 1.00.000 1.50.000 0 50 100 150 200 250 300 350
053:00:00.005. 000 T05:00"
7_023_07.7- 023 B 2%13 07.—2AT 022 Longitude

Time (utc)

cts/sec

cts/sec

cts/sec



60-s bins
10.0
7.5
(Y]
e
5.0 2
- -
©
-
2.5
0.0 T
0.00 0. 000 0. 000 0.000
502302241853 3% 1‘”%32%%2 14720112;3%0 4705000
Time (utc)
60-s bins
10.0
7.5
()]
e
5.0 2
- -
©
-
2.5
0.0 T
0.000 0. 000 0. 000 0.000
1023022419 00:¢ 1AT00'§Z 00 ato 00,95 a05:00°0
Time (u C)
60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T

0:00.000_ 14.00. 00 0:00. 000 0:00.000
(02302 _24T02 10: 23 02 yﬂ%Bzg 02 14720112 g 02241050

Time (utc)

5.0
2.5
0.0
-2.5
-5.0

5.0
2.5
0.0
-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
=)

10902303002 FPMB: No SAA Filter  6.43-ks, 100%
el
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no  5.86-ks, 91%
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=yes 5.86-ks, 91%
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10.0
7.5
(]
e
5.0 - 2
- -
©
-
2.5
0.0 .
0.00 0. 000 0. 000 0.000
502302241853 3% 1‘”%32%%2 2430%)%0 470500
Time (utc)
60-s bins
10.0
7.5
(]
e
5.0 - 2
- -
©
-
2.5
0.0 .
0.00 0. 000 0. 000 0.000
5023022419, 5 14T%32g%g 242"“22%“ 470500
Time (u C)
60-s bins
10.0
7.5
(]
e
5.0 - 2
- -
©
-
2.5
0.0 .

0:00.000_ 14.00. 00 0:00. 000 0:00.000
(02302 24T0 223 02 14T0032g 02 1472042 g 02241050

Time (utc)

5.0
2.5
0.0
-2.5
-5.0

w
=)

N
w

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
)

10902303002 FPMB: No SAA Filter

6.43-ks, 100%

50

100

T T
150 200

Longitude

T
250

--saacalc=2 -saamode=0PTIMIZED --tentacle=no

T
300

350

6.43-ks, 100%

50

100

T T
150 200

Longitude

T
250

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes

T
300

350

6.43-ks, 100%

50

100

T T
150 200

Longitude

T
250

T
300

350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T
0.00 0. 000 0. 000 0.000
502302241853 3% 1‘”%32%%2 2430%)%0 4705000
Time (utc)
60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T
0.000 0. 000 0. 000 0.000
1023022419 00:¢ 14T00'§Z 000 aTo 00,95 a05:00°0
Time (u C)
60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T

0:00.000_ 14.00. 00 0:00. 000 0:00.000
(02302 _24T02 10: 23 02 14T0032g - 1472042 g 02241050

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

w
=)

N
w

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
=)

10902303002 FPMB: No SAA Filter  6.43-ks, 100%
el
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no  5.81-ks, 90%
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 5.81-ks, 90%
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10.0
7.5
(]
e
5.0 - 2
- -
©
-
2.5
0.0 .
0.00 0. 000 0. 000 0.000
502302241853 3% 1‘”%32%%2 2430%)%0 4705000
Time (utc)
60-s bins
10.0
7.5
(]
e
5.0 - 2
- -
©
-
2.5
0.0 .
0.00 0. 000 0. 000 0.000
5023022419, 5 14T%32g%g 242"“22%“ 4705000
Time (u C)
60-s bins
10.0
7.5
(]
e
5.0 - 2
- -
©
-
2.5
0.0 .

0:00.000_ 14.00. 00 0:00. 000 0:00.000
(02302 24T0 223 02 14T0032g - 1472042 g 02241050

Time (utc)

5.0
2.5
0.0
-2.5
-5.0

w
=)

N
w

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
)

10902303002 FPMB: No SAA Filter

6.43-ks, 100%

50

100

T T
150 200

Longitude

T
250

--saacalc=3 -saamode=0PTIMIZED --tentacle=no

T
300

350

6.43-ks, 100%

50

100

T T
150 200

Longitude

T
250

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes

T
300

350

6.43-ks, 100%

50

100

T T
150 200

Longitude

T
250

T
300

350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T
0.00 0. 000 0. 000 0.000
502302241853 3% 1‘”%32%%2 2430%)%0 4705000
Time (utc)
60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T
0.000 0. 000 0. 000 0.000
1023022419 00:¢ 14T00'§Z 000 aTo 00,95 a05:00°0
Time (u C)
60-s bins
10.0
7.5
(]
e
5.0 2
- -
©
-
2.5
0.0 T

0:00.000_ 14.00. 00 0:00. 000 0:00.000
(02302 _24T02 10: 23 02 14T0032g - 1472042 g 02241050

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

w
=)

N
w

0.0

-2.5

-5.0

w
=)

N
w

o
<)

|
N
[§]

|
w
=)

10902303002 FPMB: No SAA Filter  6.43-ks, 100%
el
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no  5.81-ks, 90%
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 5.81-ks, 90%
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



